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Physics 122, Winter 2013  Exam 2, page 3 

The next three questions pertain to the following circuit. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
7.  (4 pts.) With the switch open as shown, what is the current I1? 
 
(A)  I1 =  –7/2 A  
(B)  I1 = –1/2 A  
(C)  I1 =   1/2 A  
(D)  I1 =   3/2 A  
(E)  I1 =   7/2 A 
 
 
 
For the next two questions the switch is closed. 
 
8. (4 pts.)  What is the voltage across the 4 ohm resistor? 
 
(A)  2 V  
(B)  6 V 
(C)  7 V 
(D)  8 V 
(E)  14 V 
 
 
 
9. (3 pts.) Which of the currents have changed in magnitude after the switch is closed? 
 
(A)  Only I3 has changed in magnitude. 
(B)  Only I2 and I3 have changed in magnitude. 
(C)  I1, I2, and I3 have all changed in magnitude. 
(D)  No currents have changed in magnitude. 
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